
X[0] <= 0.5
mse = 0.948

samples = 26288
value = 0.005

X[17] <= 0.5
mse = 0.638

samples = 20609
value = 0.275

True X[16] <= 0.5
mse = 0.845

samples = 5679
value = -0.978

False

X[21] <= -0.504
mse = 0.168

samples = 1131
value = -0.105

X[21] <= 3.871
mse = 0.656

samples = 19478
value = 0.297

X[3] <= 0.5
mse = 0.13

samples = 542
value = -0.046

X[1] <= 0.5
mse = 0.195

samples = 589
value = -0.157

X[2] <= 0.5
mse = 0.112

samples = 267
value = -0.111

X[21] <= -1.006
mse = 0.141

samples = 275
value = 0.019

X[19] <= -1.521
mse = 0.115

samples = 157
value = -0.163

X[19] <= -1.078
mse = 0.099

samples = 110
value = -0.037

mse = 0.0
samples = 1
value = 0.838

X[7] <= 0.5
mse = 0.111

samples = 156
value = -0.167

mse = 0.111
samples = 151
value = -0.155

mse = 0.027
samples = 5

value = -0.456

X[7] <= 0.5
mse = 0.09

samples = 52
value = -0.128

X[19] <= -0.624
mse = 0.093
samples = 58
value = 0.041

mse = 0.077
samples = 51
value = -0.115

mse = -0.0
samples = 1

value = -1.167

mse = 0.093
samples = 46
value = 0.084

mse = 0.046
samples = 12
value = -0.153

X[20] <= 0.5
mse = 0.132

samples = 154
value = 0.091

X[11] <= 0.5
mse = 0.135

samples = 121
value = -0.079

X[18] <= 0.5
mse = 0.12

samples = 147
value = 0.105

X[5] <= 0.5
mse = 0.313
samples = 7

value = -0.232

mse = 0.145
samples = 73
value = 0.043

mse = 0.091
samples = 74
value = 0.162

mse = 0.033
samples = 3
value = 0.182

mse = 0.091
samples = 4

value = -0.853

X[18] <= 0.5
mse = 0.149
samples = 91
value = -0.132

X[14] <= 0.5
mse = 0.073
samples = 30
value = 0.059

mse = 0.156
samples = 54
value = -0.194

mse = 0.125
samples = 37
value = -0.036

mse = 0.063
samples = 26
value = 0.015

mse = 0.032
samples = 4
value = 0.38

X[5] <= 0.5
mse = 0.217
samples = 34
value = -0.527

X[29] <= 0.5
mse = 0.187

samples = 555
value = -0.139

X[7] <= 0.5
mse = 0.201
samples = 28
value = -0.599

X[7] <= 0.5
mse = 0.079
samples = 6
value = -0.07

X[30] <= 0.5
mse = 0.148
samples = 27
value = -0.541

mse = -0.0
samples = 1

value = -1.644

mse = 0.106
samples = 20
value = -0.39

mse = 0.076
samples = 7

value = -0.883

X[4] <= 0.5
mse = 0.012
samples = 5

value = -0.188

mse = -0.0
samples = 1
value = 0.519

mse = 0.001
samples = 4

value = -0.136

mse = 0.0
samples = 1

value = -0.395

X[19] <= 1.336
mse = 0.177

samples = 354
value = -0.083

X[21] <= -0.481
mse = 0.19

samples = 201
value = -0.233

X[10] <= 0.5
mse = 0.178

samples = 313
value = -0.067

X[16] <= 0.5
mse = 0.153
samples = 41
value = -0.207

mse = 0.242
samples = 138
value = -0.018

mse = 0.12
samples = 175
value = -0.109

mse = 0.148
samples = 40
value = -0.239

mse = 0.0
samples = 1
value = 0.248

X[9] <= 0.5
mse = 0.648
samples = 4

value = -1.107

X[19] <= 2.0
mse = 0.167

samples = 197
value = -0.217

mse = 0.016
samples = 2
value = -1.67

mse = 0.011
samples = 2
value = 0.019

mse = 0.157
samples = 189
value = -0.198

mse = 0.194
samples = 8

value = -0.682

X[19] <= 0.823
mse = 0.646

samples = 19476
value = 0.296

X[21] <= 4.078
mse = 19.135
samples = 2
value = 8.115

X[1] <= 0.5
mse = 0.571

samples = 15894
value = 0.333

X[21] <= 1.553
mse = 0.944

samples = 3582
value = 0.135

X[21] <= -0.079
mse = 0.639

samples = 840
value = 0.125

X[16] <= 0.5
mse = 0.565

samples = 15054
value = 0.344

X[2] <= 0.5
mse = 0.549

samples = 580
value = 0.205

X[22] <= 0.5
mse = 0.79

samples = 260
value = -0.049

mse = 0.553
samples = 491
value = 0.172

mse = 0.486
samples = 89
value = 0.389

mse = 0.818
samples = 239
value = -0.097

mse = 0.153
samples = 21
value = 0.497

X[2] <= 0.5
mse = 0.449

samples = 14537
value = 0.336

X[21] <= 0.783
mse = 3.712

samples = 517
value = 0.553

mse = 0.523
samples = 6758

value = 0.29

mse = 0.38
samples = 7779
value = 0.377

mse = 3.32
samples = 507
value = 0.489

mse = 12.637
samples = 10
value = 3.339

X[19] <= 0.836
mse = 0.875

samples = 2422
value = 0.196

X[16] <= 0.5
mse = 1.065

samples = 1160
value = 0.007

X[32] <= 0.5
mse = 0.738
samples = 62
value = -0.21

X[1] <= 0.5
mse = 0.874

samples = 2360
value = 0.207

mse = 0.344
samples = 33
value = 0.157

mse = 0.858
samples = 29
value = -0.63

mse = 0.991
samples = 132
value = -0.073

mse = 0.862
samples = 2228
value = 0.223

X[19] <= 2.448
mse = 0.652

samples = 1085
value = -0.023

X[19] <= 1.928
mse = 6.939
samples = 75
value = 0.449

mse = 0.617
samples = 946
value = 0.017

mse = 0.81
samples = 139
value = -0.304

mse = 2.855
samples = 40
value = -0.339

mse = 10.133
samples = 35
value = 1.368

mse = 0.0
samples = 1

value = 10.641

mse = -0.0
samples = 1
value = 0.539

X[1] <= 0.5
mse = 0.563

samples = 5015
value = -1.036

X[18] <= 0.5
mse = 2.781

samples = 664
value = -0.537

X[21] <= -0.065
mse = 0.412

samples = 345
value = -1.173

X[17] <= 0.5
mse = 0.573

samples = 4670
value = -1.025

X[21] <= -0.079
mse = 0.486

samples = 137
value = -1.043

X[3] <= 0.5
mse = 0.345

samples = 208
value = -1.258

X[3] <= 0.5
mse = 0.399

samples = 136
value = -1.079

mse = -0.0
samples = 1
value = 1.56

X[7] <= 0.5
mse = 0.368

samples = 106
value = -1.134

X[21] <= -1.346
mse = 0.46

samples = 30
value = -0.897

mse = 0.371
samples = 100
value = -1.11

mse = 0.053
samples = 6

value = -1.622

mse = 0.068
samples = 3

value = -1.631

mse = 0.444
samples = 27
value = -0.834

X[13] <= 0.5
mse = 0.36

samples = 177
value = -1.225

X[19] <= 0.05
mse = 0.228
samples = 31
value = -1.438

X[21] <= 3.225
mse = 0.287

samples = 142
value = -1.274

X[5] <= 0.5
mse = 0.608
samples = 35
value = -1.025

mse = 0.278
samples = 141
value = -1.281

mse = -0.0
samples = 1
value = 0.235

mse = 0.716
samples = 22
value = -0.793

mse = 0.088
samples = 13
value = -1.476

X[26] <= 0.5
mse = 0.729
samples = 2

value = -0.422

X[5] <= 0.5
mse = 0.166
samples = 29
value = -1.477

mse = 0.0
samples = 1
value = 0.432

mse = 0.0
samples = 1

value = -1.276

mse = 0.054
samples = 17
value = -1.621

mse = 0.265
samples = 12
value = -1.214

X[7] <= 0.5
mse = 0.208

samples = 178
value = -0.836

X[3] <= 0.5
mse = 0.585

samples = 4492
value = -1.032

X[24] <= 0.5
mse = 0.203

samples = 173
value = -0.853

X[30] <= 0.5
mse = 0.141
samples = 5

value = -0.421

X[20] <= 0.5
mse = 0.202

samples = 123
value = -0.802

X[9] <= 0.5
mse = 0.182
samples = 50
value = -0.987

mse = 0.17
samples = 114
value = -0.845

mse = 0.312
samples = 9

value = -0.333

mse = 0.203
samples = 38
value = -0.909

mse = 0.044
samples = 12
value = -1.221

X[10] <= 0.5
mse = 0.027
samples = 2
value = -0.15

X[21] <= 0.448
mse = 0.036
samples = 3

value = -0.827

mse = 0.0
samples = 1

value = -0.315

mse = 0.0
samples = 1
value = 0.014

mse = 0.005
samples = 2

value = -0.931

mse = -0.0
samples = 1

value = -0.516

X[19] <= 1.228
mse = 0.564

samples = 1921
value = -1.072

X[10] <= 0.5
mse = 0.597

samples = 2571
value = -1.003

X[19] <= 1.129
mse = 0.581

samples = 1334
value = -1.037

X[4] <= 0.5
mse = 0.515

samples = 587
value = -1.156

mse = 0.589
samples = 1278
value = -1.046

mse = 0.375
samples = 56
value = -0.84

mse = 0.434
samples = 500
value = -1.186

mse = 0.941
samples = 87
value = -0.982

X[31] <= 0.5
mse = 0.559

samples = 1187
value = -1.043

X[21] <= 2.167
mse = 0.628

samples = 1384
value = -0.969

mse = 0.573
samples = 969
value = -1.017

mse = 0.476
samples = 218
value = -1.159

mse = 0.587
samples = 1340
value = -0.979

mse = 1.875
samples = 44
value = -0.617

X[19] <= -1.355
mse = 3.438

samples = 333
value = -0.315

X[19] <= 2.276
mse = 2.015

samples = 331
value = -0.762

X[5] <= 0.5
mse = 9.93

samples = 10
value = 1.547

X[21] <= -0.158
mse = 3.099

samples = 323
value = -0.377

X[12] <= 0.5
mse = 3.654
samples = 5
value = 4.568

X[19] <= -1.472
mse = 0.184
samples = 5

value = -1.139

X[10] <= 0.5
mse = 2.461
samples = 3
value = 3.792

X[9] <= 0.5
mse = 0.01
samples = 2
value = 6.896

mse = 0.0
samples = 1
value = 5.687

mse = 0.997
samples = 2
value = 2.845

mse = 0.0
samples = 1
value = 6.796

mse = -0.0
samples = 1
value = 6.996

X[1] <= 0.5
mse = 0.063
samples = 3

value = -1.402

X[14] <= 0.5
mse = 0.009
samples = 2

value = -0.611

mse = 0.0
samples = 1

value = -1.226

mse = 0.004
samples = 2

value = -1.755

mse = 0.0
samples = 1

value = -0.543

mse = 0.0
samples = 1

value = -0.749

X[21] <= -0.174
mse = 4.024

samples = 100
value = -0.076

X[21] <= 1.105
mse = 2.585

samples = 223
value = -0.523

X[6] <= 0.5
mse = 3.706
samples = 99
value = -0.143

mse = -0.0
samples = 1
value = 5.36

mse = 3.322
samples = 97
value = -0.232

mse = 6.154
samples = 2
value = 3.393

X[24] <= 0.5
mse = 1.874

samples = 129
value = -0.77

X[21] <= 1.418
mse = 3.422
samples = 94
value = -0.153

mse = 1.161
samples = 104
value = -0.906

mse = 4.216
samples = 25
value = -0.262

mse = 4.801
samples = 36
value = 0.602

mse = 2.097
samples = 58
value = -0.592

X[8] <= 0.5
mse = 1.849

samples = 310
value = -0.807

X[2] <= 0.5
mse = 3.932
samples = 21
value = -0.127

X[12] <= 0.5
mse = 2.19

samples = 234
value = -0.724

X[12] <= 0.5
mse = 0.763
samples = 76
value = -1.053

X[21] <= -0.643
mse = 2.497

samples = 199
value = -0.607

X[19] <= 1.803
mse = 0.258
samples = 35
value = -1.305

mse = 4.197
samples = 30
value = -0.095

mse = 2.121
samples = 169
value = -0.703

mse = 0.261
samples = 31
value = -1.235

mse = 0.003
samples = 4

value = -1.759

X[20] <= 0.5
mse = 0.678
samples = 65
value = -1.167

X[4] <= 0.5
mse = 0.737
samples = 11
value = -0.39

mse = 0.454
samples = 56
value = -1.254

mse = 1.894
samples = 9

value = -0.505

mse = 1.368
samples = 2
value = 0.653

mse = 0.35
samples = 9

value = -0.599

X[21] <= 2.299
mse = 2.027
samples = 18
value = -0.792

X[10] <= 0.5
mse = 2.984
samples = 3
value = 2.439

mse = 0.0
samples = 1
value = 5.461

X[27] <= 0.5
mse = 0.543
samples = 17
value = -1.033

mse = 0.111
samples = 13
value = -1.261

mse = 1.234
samples = 4

value = -0.273

X[21] <= 2.603
mse = 0.449
samples = 2
value = 1.009

mse = 0.0
samples = 1
value = 4.346

mse = 0.0
samples = 1
value = 1.396

mse = -0.0
samples = 1

value = -0.152


